November 23, 2009

Williamson County Purchasing Department 301 S.E. Inner Loop, Suite 106 Georgetown, Texas 78626



Attention: Jonathan Harris

Assistant Purchasing Agent

Re: Williamson County Road Bond Program

US 183 at FM 3405 Intersection Improvements Williamson County Project No. 10WC805 Recommendation of Contractor Award

Dear Mr. Harris,

Please find attached the bid tabulations for the subject-referenced project. The bids have been reviewed and found to be correct. The bids are therefore accepted as hereby submitted, with Aaron Concrete Contractors being the low bidder. Following is a summary of the bid totals:

1.	Aaron Concrete Contractors	\$379,185.10
2.	Capital Excavation	\$404,493.00
3.	Patin Construction	\$408,599.98
4.	Joe Bland Construction	\$413,876.81
5.	Lindsey Contractors	\$458,352.59
6.	Royal Vista Inc.	\$520,720.82

The Contractor's low bid is \$64,568.02 under the Engineer's estimated cost of construction. This represents an approximate 15% savings to the County. Additionally, the lowest four bids are within 10% of each other, representing extremely competitive bidding.

In addition to meeting the bid qualifications subject to being low bidder, Aaron Concrete Contractors has successfully completed the RM 620 Phase 1 Improvements project under the Road Bond Program. Based on the quality of work performed by the Contractor and the favorable working relationships established with the County and its Representatives, we concur with the recommendation of the Design Engineer, Brown & Gay Engineers, for award of the US

Williamson County Road Bond Program US 183 at FM 3405 Intersection Improvements Williamson County Project No. 10WC805 Recommendation of Contractor Award November 23, 2009 Page 2 of 2

183 at FM 3405 Intersection Improvements construction contract to Aaron Concrete Contractors in the contract amount of \$379,185.10.

Please feel free to contact our office with any questions.

Respectfully Submitted,

HNTB Corporation

James D. Klotz, P.E.

VIA E-MAIL

Attachments: Bid Tabulation Analysis, Engineer's Letter of Recommendation

Cc: Judge Gattis, Williamson County Judge
Commissioner Birkman, Williamson County, Pct. 1
Commissioner Long, Williamson County, Pct. 2
Commissioner Covey, Williamson County, Pct. 3
Commissioner Morrison, Williamson County, Pct. 4
Bob Daigh, Williamson County Director of Infrastructure
Joe England, Williamson County Engineer
Mike Weaver, Prime Strategies, Inc.
Richard Ridings, HNTB Corporation
Frederico Mendoza, Brown & Gay
Project File



November 20, 2009

Mr. James Klotz, PE Project Manager HNTB Corporation 14 Galloping Road Round Rock, TX 78681

Re:

Recommendation of Award

US 183 at FM 3405 Left Turn Lane Construction Williamson County Project No. 09WC713 BGE Job No. WIL01-02

Dear Mr. Klotz:

On November 19, 2009 six bid proposals were received for the above referenced project. Aaron Concrete Contractors, LP submitted the lowest total bid of \$379,185.10. This bid compares favorably with the Engineer's estimate of \$443,753.00.

This contractor has completed similar projects for Williamson County in the past and it appears that their performance has been satisfactory. Based on the bid submitted, it is recommended that Aaron Concrete Contractors, LP be authorized to perform this work for the proposed amount of \$379,185.10.

Should you have any questions or require any additional information, please contact me at 512-879-0400. Attached please find a copy of the bid tabulation sheet.

Sincerely,

Federico J. Mendoza, PE, PTOE

Project Manager

Attachment/

Williamson County Road Bond Program 10WC805 - US 183 @ FM 3405 Intersection Improvements HNTB Bid Tabulation November 23, 2009

Bid Comparison

Bidder		id Amount	Rank	Difference from Engineer's Estimate (\$		Difference from Engineer's Estimate (%)	Difference from Low Bid (\$)		Difference from Low Bid (%)	
AARON CONCRETE CONTRACTORS	\$	379,185.10	1	\$	(64,568.02)	-14.55%		-	•	
CAPITAL EXCAVATION	\$	404,493.00	2	\$	(39,260.12)	-8.85%	\$	25,307.90	6.67%	
PATIN CONSTRUCTION	\$	408,599.98	3	\$	(35,153.14)	-7.9%	\$	29,414.88	7.8%	
JOE BLAND CONSTRUCTION	\$	413,876.81	4	\$	(29,876.31)	-6.7%	\$	34,691.71	9.1%	
LINDSEY CONTRACTORS	\$	458,352.59	5	\$	14,599.47	3.3%	\$	79,167.49	20.9%	
ROYAL VISTA INC	\$	520,720.82	6	\$	76,967.70	17.3%	\$	141,535.72	37.3%	

BID	TECH	DESCRIPTION	BID	UNIT	ENGINEER'S ESTIMATE		AARON CONCRET	E CONTRACTORS	CAPITAL EX	CAVATION	PATIN CONSTRUCTION	
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
1	100-2002	PREPARING ROW	23.9	STA	\$1,000.00	\$23,860.00	\$430.00	\$10,259.80	\$1,000.00	\$23,860.00	\$500.00	\$11,930.00
2	105-2020	REMOVING STAB BASE & ASPH PAV (12")	530	SY	\$6.00	\$3,181.32	\$6.50	\$3,446.43	\$13.00	\$6,892.86	\$10.00	\$5,302.20
3	110-2001	EXCAVATION (ROADWAY)	2,207	CY	\$4.00	\$8,828.00	\$6.90	\$15,228.30	\$8.00	\$17,656.00	\$5.00	\$11,035.00
4	132-2004	EMBANKMENT (FINAL) (DENS CONT) (TY B)	1,758.0	CY	\$10.00	\$17,580.00	\$6.90	\$12,130.20	\$9.00	\$15,822.00	\$2.50	\$4,395.00
5	164-2023	CELL FBR MLCH SEED (PERM) (RURAL) (CLAY)	10,566	SY	\$0.20	\$2,113.20	\$0.18	\$1,901.88	\$0.20	\$2,113.20	\$0.19	\$2,007.54
6	164-2029	CELL FBR MLCH SEED (TEMP) (WARM)	5,283	SY	\$0.20	\$1,056.60	\$0.18	\$950.94	\$0.20	\$1,056.60	\$0.19	\$1,003.77
7	164-2031	CELL FBR MLCH SEED (TEMP) (COOL)	5,283	SY	\$0.20	\$1,056.60	\$0.18	\$950.94	\$0.20	\$1,056.60	\$0.19	\$1,003.77
8	166-2001	FERTILIZER	2	AC	\$300.00	\$654.00	\$252.00	\$549.36	\$252.00	\$549.36	\$264.60	\$576.83
9	168-2001	VEGETATIVE WATERING	106	MG	\$15.00	\$1,584.90	\$27.00	\$2,852.82	\$15.00	\$1,584.90	\$10.00	\$1,056.60
10	247-2044	FL BS (CMP IN PLC) (TY A GR 4) (FNAL POS)	1,903	CY	\$22.00	\$41,866.00	\$26.90	\$51,190.70	\$24.50	\$46,623.50	\$22.00	\$41,866.00
11	310-2002	PRIME COAT (AE-P)	695	GAL	\$5.00	\$3,475.00	\$3.75	\$2,606.25	\$4.00	\$2,780.00	\$3.15	\$2,189.25
12	316-2008	ASPH (HFRS-2P)	6,649	GAL	\$3.00	\$19,947.00	\$2.70	\$17,952.30	\$2.80	\$18,617.20	\$3.66	\$24,335.34
13	316-2416	AGGR (TY D) (GR 4)	151	CY	\$50.00	\$7,550.00	\$76.00	\$11,476.00	\$79.00	\$11,929.00	\$59.90	\$9,044.90
14	341-2011	D - GR HMA (QCQA) TY - B PG64 - 22	1,017.0	TON	\$60.00	\$61,020.00	\$56.00	\$56,952.00	\$46.00	\$46,782.00	\$55.00	\$55,935.00
15	341-2047	D - GR HMA (QCQA) TY - C (SAC A) PG70 - 22	1,828.0	TON	\$70.00	\$127,960.00	\$60.00	\$109,680.00	\$54.00	\$98,712.00	\$65.46	\$119,660.88
16	354-2021	PLANE ASPH CONC PAV (0" TO 2")	1,211.0	SY	\$2.00	\$2,422.00	\$2.55	\$3,088.05	\$3.00	\$3,633.00	\$2.70	\$3,269.70
17	464-2003	RC PIPE (CL III) (18 IN)	222.00	LF	\$30.00	\$6,660.00	\$36.00	\$7,992.00	\$40.00	\$8,880.00	\$40.00	\$8,880.00
18	467-2286	SET (TY II) (18 IN) (RCP) (6:1) (P)	8.00	EA	\$900.00	\$7,200.00	\$690.00	\$5,520.00	\$800.00	\$6,400.00	\$1,100.00	\$8,800.00
19	496-2007	REMOV STR (PIPE)	165.00	LF	\$15.00	\$2,475.00	\$4.50	\$742.50	\$10.00	\$1,650.00	\$10.00	\$1,650.00
20	500-2001	MOBILIZATION (10%)	1.0	LS	\$40,000.00	\$40,000.00	\$24,300.00	\$24,300.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
21	502-2001	BARRICADES, SIGNS, AND TRAFFIC HANDLING	3.0	MO	\$4,000.00	\$12,000.00	\$975.00	\$2,925.00	\$2,500.00	\$7,500.00	\$6,000.00	\$18,000.00
22	506-2001	ROCK FILTER DAMS (INSTALL) (TY 2)	90.0	LF	\$20.00	\$1,800.00	\$18.50	\$1,665.00	\$18.50	\$1,665.00	\$19.43	\$1,748.70
23	506-2009	ROCK FILTER DAMS (REMOVE)	90	LF	\$8.00	\$720.00	\$9.00	\$810.00	\$9.00	\$810.00	\$9.45	\$850.50
24	506-2034	TEMPORARY SEDIMENT CONTROL FENCE	847	LF	\$3.00	\$2,541.00	\$1.85	\$1,566.95	\$1.85	\$1,566.95	\$1.94	\$1,643.18
25	530-2011	DRIVEWAYS (ACP)	115	SY	\$35.00	\$4,025.00	\$16.00	\$1,840.00	\$30.00	\$3,450.00	\$7.72	\$887.80
26	530-2017	TURNOUTS (ACP)	304	SY	\$35.00	\$10,640.00	\$16.00	\$4,864.00	\$15.00	\$4,560.00	\$15.44	\$4,693.76
27	560-2010	MAILBOX INSTALL - S (TWG - POST) TY 1 FND	3	EA	\$300.00	\$900.00	\$225.00	\$675.00	\$225.00	\$675.00	\$236.25	\$708.75
28	610-2072	REMOVE RDWY ILL ASSEM	2	EA	\$300.00	\$600.00	\$500.00	\$1,000.00	\$530.90	\$1,061.80	\$525.00	\$1,050.00
29	644-2001	INS SM RD SN SUP & AM TY 10BWG (1) SA (P)	7	EA	\$350.00	\$2,450.00	\$335.00	\$2,345.00	\$335.00	\$2,345.00	\$351.75	\$2,462.25
30	644-2004	INS SM RD SN SUP & AM TY 10BWG (1) SA (T)	2	EA	\$500.00	\$1,000.00	\$450.00	\$900.00	\$450.00	\$900.00	\$472.50	\$945.00
31	644-2060	REMOVE SM RD SN SUP & AM	10	EA	\$70.00	\$700.00	\$75.00	\$750.00	\$75.00	\$750.00	\$78.75	\$787.50
32	662-2113	WK ZN PAV MRK SHT TERM (TAB) TY W	296	EA	\$1.00	\$296.00	\$1.50	\$444.00	\$1.00	\$296.00	\$1.31	\$387.76
33	662-2115	WK ZN PAV MRK SHT TERM (TAB) TY Y-2	196	EA	\$1.20	\$235.20	\$2.00	\$392.00	\$1.00	\$196.00	\$1.31	\$256.76
34	666-2002	REFL PAV MRK TY I (W) 4" (BRK) (090MIL)	1,160	LF	\$0.30	\$348.00	\$0.23	\$266.80	\$0.35	\$406.00	\$0.24	\$278.40
35	666-2011	REFL PAV MRK TY I (W) 4" (SLD) (090MIL)	4,787	LF	\$0.30	\$1,436.10	\$0.22	\$1,053.14	\$0.35	\$1,675.45	\$0.23	\$1,101.01
36	666-2035	REFL PAV MRK TY I (W) 8" (SLD) (090MIL)	930	LF	\$0.75	\$697.50	\$0.45	\$418.50	\$0.70	\$651.00	\$0.47	\$437.10

BID ITEM	TECH SPEC	DESCRIPTION	BID	UNIT MEASURE	ENGINEER'	S ESTIMATE	AARON CONCRET	E CONTRACTORS	CAPITAL EX	CAVATION	PATIN CONSTRUCTION	
IIEW	SPEC		QUANTITY	WEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
37	666-2047	REFL PAV MRK TY I (W) 24" (SLD) (090MIL)	106	LF	\$5.00	\$530.00	\$4.30	\$455.80	\$4.75	\$503.50	\$4.52	\$479.12
38	666-2053	REFL PAV MRK TY I (W) (ARROW) (090MIL)	4	EA	\$80.00	\$320.00	\$90.00	\$360.00	\$85.00	\$340.00	\$94.50	\$378.00
39	666-2095	REFL PAV MRK TY I (W) (WORD) (090MIL)	4	EA	\$100.00	\$400.00	\$125.00	\$500.00	\$100.00	\$400.00	\$131.25	\$525.00
40	666-2110	REFL PAV MRK TY I (Y) 4" (SLD) (090MIL)	6,816	LF	\$0.30	\$2,044.80	\$0.23	\$1,567.68	\$0.37	\$2,521.92	\$0.24	\$1,635.84
41	666-2131	REFL PAV MRK TY I (Y) 24" (SLD) (090MIL)	450	LF	\$5.00	\$2,250.00	\$4.30	\$1,935.00	\$4.75	\$2,137.50	\$4.52	\$2,034.00
42	666-2142	REFL PAV MRK TY II (W) 4" (BRK)	1,160	LF	\$0.30	\$348.00	\$0.12	\$139.20	\$0.15	\$174.00	\$0.13	\$150.80
43	666-2145	REFL PAV MRK TY II (W) 4" (SLD)	4,787	LF	\$0.30	\$1,436.10	\$0.12	\$574.44	\$0.15	\$718.05	\$0.13	\$622.31
44	666-2153	REFL PAV MRK TY II (W) 8" (SLD)	930	LF	\$0.30	\$279.00	\$0.24	\$223.20	\$0.30	\$279.00	\$0.25	\$232.50
45	666-2157	REFL PAV MRK TY II (W) 24" (SLD)	106	LF	\$2.50	\$265.00	\$1.75	\$185.50	\$2.75	\$291.50	\$1.84	\$195.04
46	666-2160	REFL PAV MRK TY II (W) (ARROW)	4	EA	\$40.00	\$160.00	\$30.00	\$120.00	\$60.00	\$240.00	\$31.50	\$126.00
47	666-2173	REFL PAV MRK TY II (W) (WORD)	4	EA	\$50.00	\$200.00	\$45.00	\$180.00	\$80.00	\$320.00	\$47.25	\$189.00
48	666-2178	REFL PAV MRK TY II (Y) 4" (SLD)	6,816	LF	\$0.30	\$2,044.80	\$0.12	\$817.92	\$0.15	\$1,022.40	\$0.13	\$886.08
49	666-2185	REFL PAV MRK TY II (Y) 24" (SLD)	450.0	LF	\$2.50	\$1,125.00	\$1.75	\$787.50	\$2.75	\$1,237.50	\$1.84	\$828.00
50	672-2012	REFL PAV MRKR TY I - C	152	EA	\$4.00	\$608.00	\$3.50	\$532.00	\$3.50	\$532.00	\$3.68	\$559.36
51	672-2015	REFL PAV MRKR TY II - A - A	326.00	EA	\$4.00	\$1,304.00	\$3.50	\$1,141.00	\$3.50	\$1,141.00	\$3.68	\$1,199.68
52	680-2002	INSTALL HWY TRF SIG (ISOLATED)	1.00	EA	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$2,123.61	\$2,123.61	\$2,100.00	\$2,100.00
53	682-2003	BACK PLATE (12") (5 SEC)	2	EA	\$100.00	\$200.00	\$125.00	\$250.00	\$100.87	\$201.74	\$131.25	\$262.50
54	672-2022	VEH SIG SEC (12") LED (GRN ARW)	2	EA	\$250.00	\$500.00	\$310.00	\$620.00	\$233.60	\$467.20	\$325.50	\$651.00
55	682-2023	VEH SIG SEC (12") LED (GRN)	2	EA	\$250.00	\$500.00	\$325.00	\$650.00	\$249.53	\$499.06	\$341.25	\$682.50
56	682-2024	VEH SIG SEC (12") LED (YEL ARW)	2	EA	\$240.00	\$480.00	\$305.00	\$610.00	\$246.34	\$492.68	\$320.25	\$640.50
57	682-2025	VEH SIG SEC (12") LED (YEL)	2	EA	\$240.00	\$480.00	\$325.00	\$650.00	\$265.45	\$530.90	\$341.25	\$682.50
58	682-2027	VEH SIG SEC (12") LED (RED)	2	EA	\$200.00	\$400.00	\$300.00	\$600.00	\$226.17	\$452.34	\$315.00	\$630.00
59	690-2007	REPLACE OF GROUND BOXES	4	EA	\$500.00	\$2,000.00	\$650.00	\$2,600.00	\$690.17	\$2,760.68	\$682.50	\$2,730.00
	TOTAL COST	OF BASE BID ADJUSTED FOR CORRECTNESS				\$443,753.12		\$379,185.10		\$404,493.00		\$408,599.98
	AOTHAL DAG	DE DID DDODOOM						#070 405 40		# 404 400 00		# 400 500 00
	ACTUAL BAS	SE BID PROPOSAL						\$379,185.10		\$404,493.00		\$408,599.98
	ADJUSTMEN	T DIFFERENCE						\$0.00		\$0.00		\$0.00
	Acknowledgement of Addenda:									V		
	Addendum No. 1							Yes		Yes		Yes
	Bid Bond						Yes		Yes		Yes	
	Conflict of Inte	erest Statement						Yes		Yes		Yes
	References (M	Mimimum of three)						Yes		Yes		Yes

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	JOE BLAND CO	INSTRUCTION	LINDSEY CO	NTRACTORS	ROYAL VISTA INC		
IIEW	SPEC		QUANTITY	WEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	
1	100-2002	PREPARING ROW	23.9	STA	\$714.00	\$17,036.04	\$775.00	\$18,491.50	\$750.00	\$17,895.00	
2	105-2020	REMOVING STAB BASE & ASPH PAV (12")	530	SY	\$4.00	\$2,120.88	\$12.00	\$6,362.64	\$4.00	\$2,120.88	
3	110-2001	EXCAVATION (ROADWAY)	2,207	CY	\$5.70	\$12,579.90	\$7.00	\$15,449.00	\$5.00	\$11,035.00	
4	132-2004	EMBANKMENT (FINAL) (DENS CONT) (TY B)	1,758.0	CY	\$5.75	\$10,108.50	\$8.00	\$14,064.00	\$5.00	\$8,790.00	
5	164-2023	CELL FBR MLCH SEED (PERM) (RURAL) (CLAY)	10,566	SY	\$0.20	\$2,113.20	\$0.20	\$2,113.20	\$0.32	\$3,381.12	
6	164-2029	CELL FBR MLCH SEED (TEMP) (WARM)	5,283	SY	\$0.20	\$1,056.60	\$0.20	\$1,056.60	\$0.32	\$1,690.56	
7	164-2031	CELL FBR MLCH SEED (TEMP) (COOL)	5,283	SY	\$0.20	\$1,056.60	\$0.20	\$1,056.60	\$0.32	\$1,690.56	
8	166-2001	FERTILIZER	2	AC	\$275.00	\$599.50	\$250.00	\$545.00	\$500.00	\$1,090.00	
9	168-2001	VEGETATIVE WATERING	106	MG	\$21.00	\$2,218.86	\$12.00	\$1,267.92	\$50.00	\$5,283.00	
10	247-2044	FL BS (CMP IN PLC) (TY A GR 4) (FNAL POS)	1,903	CY	\$27.00	\$51,381.00	\$28.00	\$53,284.00	\$28.00	\$53,284.00	
11	310-2002	PRIME COAT (AE-P)	695	GAL	\$4.00	\$2,780.00	\$1.10	\$764.50	\$5.00	\$3,475.00	
12	316-2008	ASPH (HFRS-2P)	6,649	GAL	\$2.90	\$19,282.10	\$3.00	\$19,947.00	\$5.50	\$36,569.50	
13	316-2416	AGGR (TY D) (GR 4)	151	CY	\$82.00	\$12,382.00	\$100.00	\$15,100.00	\$70.00	\$10,570.00	
14	341-2011	D - GR HMA (QCQA) TY - B PG64 - 22	1,017.0	TON	\$61.00	\$62,037.00	\$55.00	\$55,935.00	\$70.00	\$71,190.00	
15	341-2047	D - GR HMA (QCQA) TY - C (SAC A) PG70 - 22	1,828.0	TON	\$65.00	\$118,820.00	\$65.00	\$118,820.00	\$72.00	\$131,616.00	
16	354-2021	PLANE ASPH CONC PAV (0" TO 2")	1,211.0	SY	\$3.50	\$4,238.50	\$7.00	\$8,477.00	\$8.00	\$9,688.00	
17	464-2003	RC PIPE (CL III) (18 IN)	222.00	LF	\$32.00	\$7,104.00	\$39.00	\$8,658.00	\$60.00	\$13,320.00	
18	467-2286	SET (TY II) (18 IN) (RCP) (6:1) (P)	8.00	EA	\$1,950.00	\$15,600.00	\$450.00	\$3,600.00	\$1,800.00	\$14,400.00	
19	496-2007	REMOV STR (PIPE)	165.00	LF	\$10.00	\$1,650.00	\$7.00	\$1,155.00	\$10.00	\$1,650.00	
20	500-2001	MOBILIZATION (10%)	1.0	LS	\$15,683.00	\$15,683.00	\$40,000.00	\$40,000.00	\$47,000.00	\$47,000.00	
21	502-2001	BARRICADES, SIGNS, AND TRAFFIC HANDLING	3.0	MO	\$1,700.00	\$5,100.00	\$2,000.00	\$6,000.00	\$6,000.00	\$18,000.00	
22	506-2001	ROCK FILTER DAMS (INSTALL) (TY 2)	90.0	LF	\$20.00	\$1,800.00	\$25.00	\$2,250.00	\$30.00	\$2,700.00	
23	506-2009	ROCK FILTER DAMS (REMOVE)	90	LF	\$9.00	\$810.00	\$12.00	\$1,080.00	\$15.00	\$1,350.00	
24	506-2034	TEMPORARY SEDIMENT CONTROL FENCE	847	LF	\$2.00	\$1,694.00	\$2.00	\$1,694.00	\$2.00	\$1,694.00	
25	530-2011	DRIVEWAYS (ACP)	115	SY	\$43.00	\$4,945.00	\$60.00	\$6,900.00	\$12.00	\$1,380.00	
26	530-2017	TURNOUTS (ACP)	304	SY	\$38.00	\$11,552.00	\$45.00	\$13,680.00	\$12.00	\$3,648.00	
27	560-2010	MAILBOX INSTALL - S (TWG - POST) TY 1 FND	3	EA	\$245.00	\$735.00	\$600.00	\$1,800.00	\$650.00	\$1,950.00	
28	610-2072	REMOVE RDWY ILL ASSEM	2	EA	\$545.00	\$1,090.00	\$700.00	\$1,400.00	\$300.00	\$600.00	
29	644-2001	INS SM RD SN SUP & AM TY 10BWG (1) SA (P)	7	EA	\$365.00	\$2,555.00	\$990.00	\$6,930.00	\$900.00	\$6,300.00	
30	644-2004	INS SM RD SN SUP & AM TY 10BWG (1) SA (T)	2	EA	\$490.00	\$980.00	\$990.00	\$1,980.00	\$900.00	\$1,800.00	
31	644-2060	REMOVE SM RD SN SUP & AM	10	EA	\$81.00	\$810.00	\$120.00	\$1,200.00	\$150.00	\$1,500.00	
32	662-2113	WK ZN PAV MRK SHT TERM (TAB) TY W	296	EA	\$2.00	\$592.00	\$1.00	\$296.00	\$2.00	\$592.00	
33	662-2115	WK ZN PAV MRK SHT TERM (TAB) TY Y-2	196	EA	\$2.00	\$392.00	\$1.00	\$196.00	\$2.00	\$392.00	
34	666-2002	REFL PAV MRK TY I (W) 4" (BRK) (090MIL)	1,160	LF	\$0.25	\$290.00	\$0.32	\$371.20	\$0.40	\$464.00	
35	666-2011	REFL PAV MRK TY I (W) 4" (SLD) (090MIL)	4,787	LF	\$0.24	\$1,148.88	\$0.31	\$1,483.97	\$0.40	\$1,914.80	
36	666-2035	REFL PAV MRK TY I (W) 8" (SLD) (090MIL)	930	LF	\$0.49	\$455.70	\$0.63	\$585.90	\$0.80	\$744.00	

BID	TECH	DESCRIPTION	BID	UNIT	JOE BLAND CO	INSTRUCTION	LINDSEY CO	NTRACTORS	ROYAL VISTA INC		
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	
37	666-2047	REFL PAV MRK TY I (W) 24" (SLD) (090MIL)	106	LF	\$4.70	\$498.20	\$6.03	\$639.18	\$7.00	\$742.00	
38	666-2053	REFL PAV MRK TY I (W) (ARROW) (090MIL)	4	EA	\$98.00	\$392.00	\$126.15	\$504.60	\$150.00	\$600.00	
39	666-2095	REFL PAV MRK TY I (W) (WORD) (090MIL)	4	EA	\$136.00	\$544.00	\$175.21	\$700.84	\$175.00	\$700.00	
40	666-2110	REFL PAV MRK TY I (Y) 4" (SLD) (090MIL)	6,816	LF	\$0.25	\$1,704.00	\$0.32	\$2,181.12	\$0.40	\$2,726.40	
41	666-2131	REFL PAV MRK TY I (Y) 24" (SLD) (090MIL)	450	LF	\$4.60	\$2,070.00	\$6.03	\$2,713.50	\$7.00	\$3,150.00	
42	666-2142	REFL PAV MRK TY II (W) 4" (BRK)	1,160	LF	\$0.13	\$150.80	\$0.17	\$197.20	\$0.40	\$464.00	
43	666-2145	REFL PAV MRK TY II (W) 4" (SLD)	4,787	LF	\$0.13	\$622.31	\$0.17	\$813.79	\$0.40	\$1,914.80	
44	666-2153	REFL PAV MRK TY II (W) 8" (SLD)	930	LF	\$0.26	\$241.80	\$0.34	\$316.20	\$0.40	\$372.00	
45	666-2157	REFL PAV MRK TY II (W) 24" (SLD)	106	LF	\$1.90	\$201.40	\$2.45	\$259.70	\$2.50	\$265.00	
46	666-2160	REFL PAV MRK TY II (W) (ARROW)	4	EA	\$32.00	\$128.00	\$42.05	\$168.20	\$40.00	\$160.00	
47	666-2173	REFL PAV MRK TY II (W) (WORD)	4	EA	\$50.00	\$200.00	\$63.08	\$252.32	\$55.00	\$220.00	
48	666-2178	REFL PAV MRK TY II (Y) 4" (SLD)	6,816	LF	\$0.13	\$886.08	\$0.17	\$1,158.72	\$0.20	\$1,363.20	
49	666-2185	REFL PAV MRK TY II (Y) 24" (SLD)	450.0	LF	\$1.90	\$855.00	\$2.45	\$1,102.50	\$2.50	\$1,125.00	
50	672-2012	REFL PAV MRKR TY I - C	152	EA	\$3.82	\$580.64	\$4.91	\$746.32	\$4.50	\$684.00	
51	672-2015	REFL PAV MRKR TY II - A - A	326.00	EA	\$3.82	\$1,245.32	\$4.91	\$1,600.66	\$4.50	\$1,467.00	
52	680-2002	INSTALL HWY TRF SIG (ISOLATED)	1.00	EA	\$2,200.00	\$2,200.00	\$2,803.29	\$2,803.29	\$3,000.00	\$3,000.00	
53	682-2003	BACK PLATE (12") (5 SEC)	2	EA	\$140.00	\$280.00	\$175.21	\$350.42	\$250.00	\$500.00	
54	672-2022	VEH SIG SEC (12") LED (GRN ARW)	2	EA	\$340.00	\$680.00	\$400.00	\$800.00	\$350.00	\$700.00	
55	682-2023	VEH SIG SEC (12") LED (GRN)	2	EA	\$355.00	\$710.00	\$450.00	\$900.00	\$350.00	\$700.00	
56	682-2024	VEH SIG SEC (12") LED (YEL ARW)	2	EA	\$335.00	\$670.00	\$425.00	\$850.00	\$350.00	\$700.00	
57	682-2025	VEH SIG SEC (12") LED (YEL)	2	EA	\$360.00	\$720.00	\$450.00	\$900.00	\$350.00	\$700.00	
58	682-2027	VEH SIG SEC (12") LED (RED)	2	EA	\$330.00	\$660.00	\$400.00	\$800.00	\$350.00	\$700.00	
59	690-2007	REPLACE OF GROUND BOXES	4	EA	\$710.00	\$2,840.00	\$900.00	\$3,600.00	\$1,750.00	\$7,000.00	
	TOTAL COST	OF BASE BID ADJUSTED FOR CORRECTNESS				\$413,876.81		\$458,352.59		\$520,720.82	
ı	ACTUAL BAS	SE BID PROPOSAL				\$413,876.81		\$458,352.59		\$520,720.82	
	ADJUSTMEN	T DIFFERENCE				\$0.00		\$0.00		\$0.00	
	Acknowledge	ment of Addenda:									
	Addendum No	o. 1				Yes		Yes		Yes	
	Bid Bond					Yes		Yes		Yes	
	Conflict of Inte	erest Statement				Yes		Yes		Yes	
	References (I	Mimimum of three)				Yes		Yes		Yes	